
Hands for Lebensohl

1N-2H-?

Hand 1: Hand 2:

S Qx S Kx
3 x 3 xx
2 QJ10xxxx 2 AQJ9xx
C Jxx C K10x
(2N->3C; 3D) (3D)

Hand 3: Hand 4:

S Kxx S Kxx
3 KJx 3 xx
2 Qxx 2 AKxx
C Qxxx C Kxxx
(2N->3C; 3N) (3N)

Hand 5: Hand 6:

S Kxxx S Kxxx
3 KJx 3 xx
2 Qxx 2 AKxx
C Qxx C Kxx
(2N->3C; 3H) (3H)

1N-2D-?  vs. 1N-2S-?

Hand 7: Hand 8:

S Jxx S Qxx
3 Kxxxx 3 KQxxx
2 x 2 x
C Jxx C AKxx
(2D: 2H; 2S: Pass) (3H regardless)

Hand 9: Hand 10:

S Jxx S Qxx
3 KQxxx 3 KQxxxx
2 x 2 x
C Qxxx C AKxx
(2D: 2N->3C; 3H; 2S: ?) (4D transfer regardless)



2H-*-P-?  

Hand 11: Hand 12:

S xx S Kx
3 xxx 3 xxx
2 Q10xxx 2 KQxxx
C Qxx C Jxx
(2N->3C; 3D) (3D)

Hand 13: Hand 14: Hand 15:

S xxxx S Axxx S AQxx
3 xxx 3 xxx 3 xxx
2 Qxxx 2 Qxxx 2 Qxxx
C Kx C Kx C Kx
(2S) (2N->3C; 3S) (3S)

Hand 16: Hand 17:

S xx S KJx
3 KJx 3 xx
2 Kxx 2 Kx
C Axxx C AJxxx
(3N) (3H)



1D-P-1S-P; 2H-?  

Hand 18: Hand 19:

S xxxx S AJxx
3 Qx 3 Qx
2 QJxx 2 QJxx
C xx C xx
(2N->3C; 3D) (3D)

Hand 20: Hand 21:

S Qxxxx S Qxxxx
3 Qxxx 3 QJxx
2 Jx 2 Ax
C Qx C Qx
(2N->3C; 3H) (3H)

Hand 22: Hand 23:

S Qxxxxx S KQJxxx
3 Qx 3 Kx
2 Jx 2 Jx
C Jxx C Jxx
(2S) (3S)


